## Informational Report for the July 16, 2013 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College - 0	Community Ed	ucatio	on									
					To teach Creative &	Special						
					French for Kids on	Programs &						
Campbell	Arvanderlyn	R.	Chabot	Yes	Campus Program	Services	Hourly	\$45.00	32	\$ 1,440.00	7/8/2013	7/18/2013
					To teach Water							
					Aerobics to							
		_			Community	Community					_,_,_	_ ,_ ,_ ,
Hawtrey	Nancy	S.	Chabot	No	Education students	Education	Hourly	\$45.00	36	\$1,620.00	7/8/2013	8/29/2013
Chabot College												
					To work as a Project							
					Aide for the							
					disadvantaged youth	Special						
					summer sports	Programs &	Flat					
Brown	Greg	L.	Chabot	Yes	program	Services	Rate	\$1,200.00	1	\$ 1,200.00	6/17/2013	7/18/2013
					To work as a							
					Educational							
					Instructor for the							
					disadvantaged youth	Special						
					summer sports	Programs &	Flat					
Campbell	Arvanderlyn	R.	Chabot	No	program	Services	Rate	\$900.00	1	\$ 900.00	7/8/2013	7/18/2013
					To work as a							
					lifeguard for the							
					disadvantaged youth	Special						
	1.7		01 1 1		summer sports	Programs &	Flat	<b>*</b> 4 <b>***</b> ******************************		<b>*</b> 4 000 00	0/47/0040	7/40/0040
Domin	Kaela	J.	Chabot	Yes	program	Services	Rate	\$1,200.00	1	\$ 1,200.00	6/17/2013	7/18/2013
					To work as a Project							
					Aide for the	Special						
					disadvantaged youth	Special	Flat					
Cont	Molicco	N //	Chabot	Yes	summer sports	Programs & Services	Rate	\$1,500.00	1	\$ 1,500.00	7/8/2013	7/18/2013
Gant	Melissa	M.	Chabot	162	program	Services	Rate	φ1,500.00	I	φ 1,500.00	1/0/2013	1/10/2013

## Informational Report for the July 16, 2013 Board of Trustees Meeting

Last Name	First Name			New Emp to	Dutie	Division	Pay	Dov Boto	Marrimorna	Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Huynh	Linda	nmi	Chabot	No	To work as a sports instructor for the disadvantaged youth summer sports program	Special Programs & Services	Flat Rate	\$ 1,800.00	1	\$ 1,800.00	6/17/2013	7/18/2013
Jones-Rasberry	Lois	E.	Chabot	No	To work as a	Social Science	Hourly	\$50.00	300	\$15,000.00	7/17/2013	12/31/2013
Krawczuk	Fletcher	M.	Chabot	Yes	lifeguard for the disadvantaged youth summer sports program	Special Programs & Services	Flat Rate	\$1,200.00	1	\$ 1,200.00	6/17/2013	7/18/2013
					To work as a lifeguard for the disadvantaged youth summer sports	Special Programs &	Flat					
Morales	Juan	E.	Chabot	Yes	program To provide mental health services to students at the Chabot Health	Services Student	Rate	\$1,200.00	1	\$ 1,200.00	6/17/2013	7/18/2013
Panella	Justino	N.M.	Chabot	No	Center	Services Foster and	Monthly	\$500.00	1	\$ 500.00	8/1/2013	12/31/2013
Powell	Yvette	L.	Chabot	No	To provide support for PRIDE classes	Kinship Care Education	Hourly	\$20.00	450	\$9,000.00	7/16/2013	12/31/2013

## Informational Report for the July 16, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To work as a Project							
					To work as a Project Aide for the							
					disadvantaged youth	Special						
					summer sports	Programs &	Flat					
Ray	Belynda	nmi	Chabot	Yes	program	Services	Rate	\$1,200.00	1	\$ 1,200.00	6/17/2013	7/18/2013
					To provide							
					specialized services							
					in support of Facility							
					Use Contracts							
					regarding Life Safety	0-11						
Bukiyo	looko	nmi	Chabot	No	codes, and ADA needs	School of the	Hourby	\$16.00	200	¢2 000 00	7/1/2013	12/21/2012
Rukiya	Isoke	nmi	Chabot	No	neeus	Arts	Hourly	\$16.00	200	\$3,000.00	7/1/2013	12/31/2013
					To provide clinical							
					support to set up	Health,						
					labs and lab	Applied						
					equipment for Dental	Technology &	:					
Vanni	Yvonne	M.	Chabot	No	Hygiene classes	Business	Hourly	\$50.00	18	\$900.00	7/25/2013	8/6/2013
					To work as a							
					Educational							
					Instructor for the							
					disadvantaged youth	Special						
Wescott (Winter)	Julia	R.	Chabot	No	summer sports	Programs & Services	Flat Rate	\$360.00	1	\$ 360.00	7/8/2013	7/18/2013
vvescott (vvinter)	Julia	K.	Chabot	No	program	Services	Rate	φ360.00	I	\$ 300.00	1/0/2013	7/10/2013
Las Positas Colleg	 ne - Communit	v Edu	cation									
	,				To teach Music							
					classes to							
					Community	Community						
Brown	Candace	E.	Las Positas	No	Education students	Education	Hourly	\$40.00	50	\$2,000.00	7/1/2013	12/31/2013

## Informational Report for the July 16, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To teach Medical							
					Assistant to							
					Community	Community	Per					
Hall-Patterson	Kris	nmi	Las Positas	No	Education students	Education	Student	\$30.00	50	\$1,500.00	07/01/213	12/31/2013
					To teach Frisbee			,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
					classes to							
					Community	Community						
Karter	Kerry	J.	Las Positas	No	Education students	Education	Hourly	\$30.00	50	\$1,500.00	7/1/2013	12/31/2013
					To teach Physical							
					Education to							
IZ. di	0	_	L D it	NI-	Community	Community	Per	<b>#</b> 00.00	4	<b>#00.00</b>	7/4/0040	40/04/0040
Kutil	Craig	A.	Las Positas	No	Education students	Education	Student	\$80.00	1	\$80.00	7/1/2013	12/31/2013
					To teach Physical Education to							
					Community	Community						
Ligon	Jack	L.	Las Positas	No	Education students	Education	Hourly	\$40.00	150	\$6,000.00	7/1/2013	12/31/2013
					To teach History and			¥ 10100		40,00000	.,,,	
					Writing classes to							
					Community	Community						
McElderry	Stuart	J.	Las Positas	No	Education students	Education	Hourly	\$40.00	25	\$1,000.00	4/15/2013	6/30/2013
,					To teach Film &							
					History classes to							
					Community	Community						
McElderry	Stuart	J.	Las Positas	No	Education students	Education	Hourly	\$40.00	50	\$2,000.00	7/1/2013	12/31/2013
					To provide case							
					management for the Workforce							
					Investment Act Youth							
					Program Career	Student						
Moore	Sheri	L.	Las Positas	No	Learning Cohort	Services	Hourly	\$28.00	450	\$12,600.00	7/1/2013	12/31/2013

## Informational Report for the July 16, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
					T							
					To teach Fencing classes to							
					Community	Community						
Murray	Stephen	D.	Las Positas	No	Education students	Education	Hourly	\$40.00	150	\$6,000.00	7/1/2013	12/31/2013
Multay	Stephen	D.	Las Fusitas	INO	To teach ESL &	Luucation	riourry	φ40.00	130	\$0,000.00	1/1/2013	12/31/2013
					Writing to							
					Community	Community						
Pabley	Vicki	E.	Las Positas	No	Education students	Education	Hourly	\$40.00	50	\$2,000.00	7/1/2013	12/31/2013
	1	<u> </u>						<b>4</b> 10100		<b>4</b> =,000100	1,1,2010	12,01,2010
					To provide PRIDE							
					training for the Foster	Foster and						
					and Kinship Care	Kinship Care						
Stewart-Felix	Paula	D.	Las Positas	No	Education Program	Education	Hourly	\$50.00	200	\$10,000.00	7/1/2013	6/30/2014
					To teach Android							
					Apps for Beginners							
					classes to							
			l		Community	Community			_		_ , ,	
Traugott	Jonathan	C.	Las Positas	No	Education students	Education	Hourly	\$45.00	9	\$405.00	6/17/2013	7/1/2013
Las Positas Colleg	<u> </u>											
Las Fositas Colleg	) <del>C</del>											
					To provide PRIDE							
					training for the Foster	Foster and						
					and Kinship Care	Kinship Care						
Buckner-Preston	Mia	D.	Las Positas	No	Education Program	Education	Hourly	\$65.00	100	\$6,500.00	7/1/2013	12/31/2013
						Science,						
						Technology,						
					To provide training	Engineering,						
		l				Math & Public		0=0-55	. —	4050.55	0/4=/00:5	0/00/00:5
Gabel	Audrey	H.	Las Positas	No	Technology Program	Safety	Hourly	\$50.00	17	\$850.00	6/15/2013	6/30/2013

## Informational Report for the July 16, 2013 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Luot Humo	T ii ot Italiio		Oito	Diotilot	Datioo	Dividion	11960	1 dy Italo	maximum	7 till Galle	Dog. Dato	Liid Bato
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Grigsby	Gabrielle	K.	Las Positas	No	services	Programs	Hourly	\$50.00	500	\$2,500.00	8/1/2013	12/31/2013
					To provide sign	Disabled						
					language	Student						
0	Etter to a the	N.A. A	Las Basitas	N	interpretation	Services and	I I a contro	<b>#</b> 50.00	500	<b>#</b> 0 <b>F</b> 00 00	0/4/0040	40/04/0040
Grigsby	Elizabeth	M.A.	Las Positas	No	services	Programs	Hourly	\$50.00	500	\$2,500.00	8/1/2013	12/31/2013
Helman	Tara	A.	Las Positas	Yes	To provide Mock Operating Room Laboratory training to Pharmacy Technology Students	Math & Public	Hourly	\$50.00	10	\$500.00	6/15/2013	6/30/2013
Tionnan	Tara	<del>                                     </del>	Zao i conac	1.00	9,	Caroty	i iouily	φου.σο		φοσο.σσ	0, 10,2010	0,00,2010
					To provide additional assistance to Surgical Technology Director to assist her with student skills	Science, Technology, Engineering, Math & Public						
Helman	Tara	A.	Las Positas	Yes	development	Safety	Hourly	\$50.00	20	\$1,000.00	7/15/2013	8/15/2013
Owen	Susan	C.	Las Positas	No	To provide sign language interpretation services	Disabled Student Services and Programs	Hourly	\$50.00	500	\$2,500.00	8/1/2013	12/31/2013
Wagner	Teresa	G.	Las Positas	No	To provide Mock Operating Room Laboratory training to Pharmacy Technology Students	Math & Public	Hourly	\$75.00	33	\$2,475.00	6/15/2013	8/23/2013

## Informational Report for the July 16, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount		
Walters	Elizabeth	E	Las Positas	No	To provide sign language interpretation services	Disabled Student Services and Programs	Hourly	\$50.00	500	\$25,000.00	8/1/2013	12/31/2013
District Services					To provide auditing	Office of						
Castro	Teofila	C.	District		project services for payroll	Human Resources	Hourly	\$52.00	288	\$14,976.00	7/9/2013	9/30/2013